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ool ALIHSL A (el @2)
SA - BB B () - MM - BES Ol &t o San HmEET
02 QI EASEZ (OIS ) 20,000 0 20,000
OzZIE & URsIE XNJAHH JIsE2d
20,000,000& =14l 20,000
< 10,000
Al 10,000
Ch23IIE Ml SE 680,863 713,490 A 32,627
J| 277,382
< 86,673
Al 316,808
AEgsE @ JUHME s $RUSAHHA TE 289,792 280,576 9,216
J| 144,896
< 28,979
Al 115,917
307 gl2tol & 289,792 280,576 9,216
J| 144,896
< 28,979
Al 115,917
11T M SRASE EX 289,792 280,576 9,216
OUIseitE d2usMlA XA
289,792,000 x 14! 289,792
J| 144,896
< 28,979
Al 115,917
CH23ot= Atddl2tel X3 35,850 31,826 4,024
J| 17,925
< 3,585
Al 14,340
307 glz2tol & 35,850 31,826 4,024
J| 17,925
< 3,585
Al 14,340
11T M SXAISE EX 35,850 31,826 4,024
OU=230t=E Atedl &2l X& 35,850,000 14 35,850
J| 17,925
< 3,585
Al 14,340
ZE0I2A SHANMHA XA 95,364 90, 150 5,214
J| 47,682
< 9,536
Al 38,146
307 glz2+ol & 95,364 90, 150 5,214
J| 47,682
< 9,536
Al 38,146
11T MISXASEX 95,364 90, 150 5,214
OhU=sits SgHIAANHA XA
95,364,000 » 14! 95,364
J| 47,682
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- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 9,536
Al 38, 146
CIE3Is g gde X 75,316 70,200 5,116
J| 37,658
= 7,532
Al 30,126
307 2Iz2t0| & 75,316 70,200 5,116
Dl 37,658
= 7,532
Al 30,126
11T A EXAIEEX 75,316 70,200 5,116
OUEsIIE ey X
75,316,000 = 14! 75,316
J| 37,658
& 7,532
Al 30,126
OlZE JIEEE X4 33,943 30,070 3,873
J| 16,971
& 3,395
Al 13,577
307 2Iz2t0| & 33,943 30,070 3,873
J| 16,971
= 3,395
Al 13,577
11T A EXAIEEX 33,943 30,070 3,873
O0sdN JIEssd =4 33,943,000 14! 33,943
J| 16,971
& 3,395
Al 13,577
S20us 29 24,500 25,000 A 500
J| 12,250
= 2,450
Al 9,800
307 giztol A 24,500 25,000 A 500
J| 12,250
= 2,450
Al 9,800
11T A EXAIEEX 24,500 25,000 A 500
OZ&0|0 A 922s (20 E)
24,500,000 x 1Al 24,500
J| 12,250
= 2,450
Al 9,800
ChEsits FYg & 38 A& 22,000 20,000 2,000
307 giztol A 22,000 20,000 2,000
11T A EXAIEEX 22,000 20,000 2,000
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OU=ais 78 @ 84 A9
22,000,000 = 14! 22,000
ChEshiisxyd st2us & 34,430 63,000 N 28,570
== 6,886
Al 27,544
307 2Iz2t0| & 34,430 63,000 N 28,570
= 6,886
Al 27,544
11 A EXAIEEX 34,430 63,000 N 28,570
OUEIIEXNY s20E X
34,430,000 *14! 34,430
< 6,886
Al 27,544
M AHQIOIY DS AP &= Dt 1,900 1,900 0
o= 380
Al 1,520
307 212t0| & 1,900 1,900 0
o 380
Al 1,520
11 A EXAIEEX 1,900 1,900 0
OMZQIClL AL &It
1,900, 000& = 14! 1,900
= 380
Al 1,520
CI23 244 &4 Olol =221 40,000 40,000 0
o 20,000
Al 20,000
307 212t0| & 40,000 40,000 0]
= 20,000
Al 20,000
11 A EXAIEEX 40,000 40,000 0
OCHRs 244 & 03 T2
40,000,000 =14l 40,000
o=t 20,000
Al 20,000
CI23ItE Y2 WNEXNTSAF ARHA 19,648 19,648 0
o=} 3,930
Al 15,718
307 QI2t0| ™ 19,648 19,648 0
= 3,930
Al 15,718
11 A EXAIEEX 19,648 19,648 0
OUE3IIE U2UEIATAF AR
19,648,000& » 1Al 19,648
o 3,930
Al 15,718
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g 70,000& x8H «23| 1,120
Ch2shts &t 22 7,000 7,000
307 21201 A 7,000 7,000
11 AMSSIAIEE X 7,000 7,000
OU=2stE g&t 22 7,000,000 =14 7,000
FdadEs 2 g4 4,004,096 3,305,695
= 132,420
| 1,090,329
< 192,099
Al 2,589,248
ANs EAESH 4,004,096 3,305,695
= 132,420
| 1,090,329
< 192,099
Al 2,589,248
HAEXE AL BHXI K& 94,080 92,832
| 47,040
Al 47,040
307 gl2tol & 94,080 92,832
J| 47,040
Al 47,040
1 AMISIAIEE XS 94,080 92,832
OZ3FA2HUSHANE FLYUXZ A BHXIKIA
94,080,000 » 14! 94,080
| 47,040
Al 47,040
48 H=EltE X3 71,250 71,250
= 28,500
< 7,125
Al 35,625
307 21201 A 71,250 71,250
= 28,500
= 7,125
Al 35,625
11 AMISIAIEE XS 71,250 71,250
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= 7,125
Al 35,625
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Al 1,400
307 21201 A 2,800 2,800 0
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Al 1,400
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307 gl2tol & 8,000 8,000 0
J| 4,000
Al 4,000
11T M SXAISE EX 8,000 8,000 0
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J| 4,000
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Fagerdd 2= 98,650 97,470 1,180
J| 49,325
Al 49,325
307 gl2tol & 98,650 97,470 1,180
J| 49,325
Al 49,325
11 ALS S XAEE = 98,650 97,470 1,180
OFagetdadr = 98,650,000 * 14! 98,650
J| 49,325
Al 49,325
stn o8 Had X2 167,480 125,993 41,487
J| 117,236
Al 50,244
307 glz2tol & 167,480 125,993 41,487




2N

HY: HAEE5 U S
el A[B HAUSH (SHol: @)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Jl 117,236
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Al 7,700
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Al 165,120
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O % a4 XY XA
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= 41,280
Al 165,120
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J| 64,992
Al 64,992
307 glz2+ol & 129,984 128,300 1,684
J| 64,992
Al 64,992
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O&FAYE St 2208 29
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J| 64,992
Al 64,992
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Al 28,434
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= 72,000
& 14,400
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5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
DEUAELAERHAZY 153,000,000 = 14! 153,000
DELAEIANHEXMH 100,000, 000& 14! 100,000
11T M SRASE EX 30,000 30,000 0
OFAE AXME3 ZE ALY 30,000,000 14! 30,000
401 Al HIZ 201 8] 10,000 37,000 A 27,000
01 A& HI 10,000 37,000 A 27,000
OFALESHEAL HMIZTAEES FIIAAFH(3
M) 5,000,000& »23| 10,000
FF-MEXNY 448 1R 15,000 15,000 0
201 Let2dE] 7,980 7,980 0
03 & Ar2 Z I 7,980 7,980 0
OFF-ANSXE FAE IRAA
7,980,000 » 14! 7,980
301 LEXZ 7,020 7,020 0
09 HALAHIX A S 7,020 7,020 0
OF=F-ME8XY HAHE DFHA FIHA N
156,000& »45H 7,020
FAaERSIZAE X 8,250 8,250 0
= 4,125
< 825
Al 3,300
307 gl2tol & 8,250 8,250 0
= 4,125
< 825
Al 3,300
11T M SRAISEEX 8,250 8,250 0
OFAEURMHEZZAS XA 8,250,000 14 8,250
= 4,125
= 825
Al 3,300
QiU ESS MEAEA BIXI XI& 35,590 35,074 516
= 17,795
Al 17,795
307 21201 A 35,590 35,074 516
= 17,795
Al 17,795
11T MISAASEX 35,590 35,074 516
OQHYEs dE&EA BIX XI&
35,590,000 » 14! 35,590
= 17,795
Al 17,795
HAEFRI 2 SAN HRME = 44,520 19,950 24,570
< 8,904
Al 35,616
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301 LEHZ 44,520 0 44,520
< 8,904
Al 35,616
12JEEd=S 44,520 0 44,520
OHAE=TIZ EAT HENS 2 (Mg=
KI&E) 30,600,000 =14 30,600
< 6,120
Al 24,480
OAZISEXIAIE SAX SX==H
13,920, 000& 14! 13,920
< 2,784
Al 11,136
FAEHAE JIsEZAY 80,000 170,000 290,000
< 40,000
Al 40,000
401 A& HI R 201 I 80,000 150,000 A70,000
< 40,000
Al 40,000
01 A& HI 80,000 150,000 A70,000
O3FANELEEH2 JIsE2S 20,000
DHE2 dII3A 20,000,000& =14 20,000
= 10,000
Al 10,000
OSLdILERIYE JIsEL 60,000
>EOHQ BMOIAL MXBA
60,000,000 » 14! 60,000
< 30,000
Al 30,000
dadglH 29X 770,650 357,880 412,770
J| 385,325
< 77,065
Al 308,260
307 glz2+ol & 770,650 357,880 412,770
J| 385,325
= 77,065
Al 308,260
11T MIEXASEX 770,650 357,880 412,770
O&dAddElYH 29X 770,650,000 x 14! 770,650
J| 385,325
< 77,065
Al 308,260
SR ¥LU25T A 22,000 0 22,000
401 AIEHI L 20 22,000 0 22,000
01 Al 22,000 0 22,000
O=2a Hiueso & A 22,000
DARIHYR 22 22,000,000 » 14! 22,000
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Ots d2a8=s4d & X2 6,245,373 5,145,083 1,100,290
= 1,822,330
< 710,453
Al 3,712,590
CGetlss HAHA 5 888,718 600,520 288,198
=2 258,879
< 137,808
Al 492,031
ZEEE UEN =5 A 350,000 300,000 50,000
< 85,000
Al 265,000
307 gl2tol & 300,000 300,000 0
< 60,000
Al 240,000
11T ALS S XA E = 300,000 300,000 0
ot s =249 300,000,000 =14 300,000
= 60,000
Al 240,000
401 Al HIZ 201 Y] 50,000 0 50,000
< 25,000
Al 25,000
01 A& HI 50,000 0 50,000
OUEN=S8sHH JIsE2d X&
50,000,000 =14l 50,000
< 25,000
Al 25,000
Ctat =SdH JIsE2 X2 140,000 70,000 70,000
2 90,000
< 15,000
Al 35,000
401 Al HIZ 2018 100,000 50,000 50,000
2 50,000
S 15,000
Al 35,000
01 A& HI 100,000 50,000 50,000
OCHEH S=SAY JIs22
100,000, 000& 14! 100,000
= 50,000
< 15,000
Al 35,000
405 RHoHF S HI 40,000 20,000 20,000
= 40,000
01 AL EZFH S 40,000 20,000 20,000
OUEN =smd &I #¢
40,000,000& =14 40,000
= 40,000
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= N H
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126,343

= N H

ARSI S XA E X 315,858 0 315,858
OGN =SS At 14l 304,708,000 14! 304,708
152,354

30,471
121,883

= N H

11,150,000 =14l 11,150
5,575

1,115
4,460

= HmnH

CEN SSAHY 228l X 21,900 0 21,900
10,950

2,190
8,760

= N H

307 clztol & 21,900 0 21,900
10,950

2,190
8,760

= Hn W

1A SXAIE 2 = 21,900 0 21,900
OUEN =AY 29d X&
20,400,000& » 14| 20,400

10,200
2,040
8,160

=z N H

OSSN SSAMY SS A2 AIBAIE 28I

1,500,000 * 14 1,500
750
150
600

=z N W

CLEEH sSME 2 X2 30,000 18,000 12,000

307 21201 A 30,000 18,000 12,000

05 RIZt2IE 3 30,000 18,000 12,000

OotUgn =sdH 29d X&
500,000& »5J1 A x12& 30,000

ASIEX012 SAX KN (X =) 20,160 17,640 2,520
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20,160 17,640 2,520
4,032

H




SH: OEISD
HE: 0tS AHEY L X
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 16,128
12 JE24 =3 20,160 17,640 2,520
OBAR EX=g XN (TGEN Ss=4H S)
20,160,000 » 14! 20,160
< 4,032
Al 16,128
CtetMs=s oS X 10,800 10,800 0
201 Let24E] 2,400 2,400 0
01 At 22l 2,400 2,400 0
OXSotsdH 233 S+
70,0003 x10E #23| 1,400
OOtS=XN WAL 23 NE A=
500,000& »23| 1,000
202 Odl 7,200 7,200 0
01 = LH 4 Hi 7,200 7,200 0
Otsss =0 g2=2 600,000& »12& 7,200
301 LEPEXS 1,200 1,200 0
09 HALAHIXI &3 1,200 1,200 0
O=s8aNd 29 AHXA 300,000 42 1,200
CYAHE SgAd el XA 192,774 176,751 16,023
= 149,800
< 11,235
Al 31,739
EYAEE SEAd2el XA 192,774 176,751 16,023
= 149,800
< 11,235
Al 31,739
101 @124l 42,564 40,880 1,684
= 29,632
< 2,222
Al 10,710
04 D12t 22 HEE = 42,564 40,880 1,684
OO0tS S Atcell 22l AL 2124 8] 42 564
>olE=s 1,950,000 «1H «12& 23,400
= 18,720
< 1,404
Al 3,276
>aaldl ¥ waEhl 260,000 x1H «12& 3,120
= 2,496
= 187
Al 437
> EFOH 1,000,000& =1 1,000
Dotz 4,524, 0003 «1H 4,524
>EAZ 2,000,000& x1H 2,000
= 1,600
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| 280
> 4042 B 300,000 *12 * 122 3,600
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